MDXO05 resisitive dipole measurements with the Single Stretched Wire System

Field at the center of the gap

SSW measurements performed at 60A with a 20mm step.

J'ai mesuré avec la sonde NMR No 3 a | = 60A et j'ai trouvé au centre de I'aimant MDX05 un champ de 0.5125T.

SSW STDEV on 10 repetitions BO= 0.5125 Lm= 0.4616
Field Ensuite, j'ai démagnétisé l'aimant.
NMR m
Int. Field STDEV Current STDEV Paul
SSW 0.24098 [Tm] 1.00E-04 [Tm] 60 [A] 2.00E-03 [A]
Integrated Field as a function of lateral displacement inside the aperture at nominal current probe beam
Typical deviation on 3 repetitions = 7e-5[Tm]
I'=340 [A]
SSW step length = 10mm
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Magnetization curve
SSW step length = 20mm
Typical current deviation on 3 repetitions = 2e-3 [A]
Typical field deviation on 3 repetitions < 3e-5 [Tm]
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